



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
2/5/2026	WEB026496

Bill To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

Ship To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
179484			Net 30			3/7/2026
Item	Description	Quantity	Rate	U/M	Amount	
OY 5003	OYA Permanent Hair Color 4-0 (N) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5004	OYA Permanent Hair Color 5-0 (N) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5005	OYA Permanent Hair Color 6-0 (N) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5006	OYA Permanent Hair Color 7-0 (N) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5007	OYA Permanent Hair Color 8-0 (N) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5008	OYA Permanent Hair Color 9-0 (N) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5009	OYA Permanent Hair Color 10-0 (N) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5080	OYA Permanent Hair Color 3-00 (N+) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5081	OYA Permanent Hair Color 4-00 (N+) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5010	OYA Permanent Hair Color 5-00 (N+) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5011	OYA Permanent Hair Color 6-00 (N+) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5012	OYA Permanent Hair Color 7-00 (N+) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
					Subtotal	
					Sales Tax (0.0%)	
					Total	

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	

Subtotal
Sales Tax (0.0%)
Total
Payments/Credits
Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
2/5/2026	WEB026496

Bill To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

Ship To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
179484			Net 30			3/7/2026
Item	Description	Quantity	Rate	U/M	Amount	
OY 5013	OYA Permanent Hair Color 8-00 (N+) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5014	OYA Permanent Hair Color 9-00 (N+) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5018	OYA Permanent Hair Color 5-1 (A) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5019	OYA Permanent Hair Color 6-1 (A) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5020	OYA Permanent Hair Color 7-1 (A) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5021	OYA Permanent Hair Color 8-1 (A) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5022	OYA Permanent Hair Color 9-1 (A) (90 g / 3.17 oz.)	72	5.975	ea	430.20T	
OY 5027	OYA Permanent Hair Color 8-4 (B) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5031	OYA Permanent Hair Color 5-5 (G) (90 g / 3.17 oz.)	12	5.975	ea	71.70T	
OY 5034	OYA Permanent Hair Color 8-5 (G) (90 g / 3.17 oz.)	12	5.975	ea	71.70T	
OY 5039	OYA Permanent Hair Color 5-6 (M) (90 g / 3.17 oz.)	12	5.975	ea	71.70T	
OY 5040	OYA Permanent Hair Color 6-6 (M) (90 g / 3.17 oz.)	12	5.975	ea	71.70T	
OY 5082	OYA Permanent Hair Color 3-7 (C) (90 g / 3.17 oz.))	36	5.975	ea	215.10T	
					Subtotal	
					Sales Tax (0.0%)	
					Total	

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	

Subtotal
Sales Tax (0.0%)
Total
Payments/Credits
Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
2/5/2026	WEB026496

Bill To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

Ship To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
179484			Net 30			3/7/2026
Item	Description	Quantity	Rate	U/M	Amount	
OY 5083	OYA Permanent Hair Color 4-7 (C) (90 g / 3.17 oz.))	36	5.975	ea	215.10T	
OY 5043	OYA Permanent Hair Color 5-7 (C) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5044	OYA Permanent Hair Color 6-7 (C) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5045	OYA Permanent Hair Color 7-7 (C) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5046	OYA Permanent Hair Color 8-7 (C) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5047	OYA Permanent Hair Color 9-7 (C) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5048	OYA Permanent Hair Color 6-87 (RC) (90 g / 3.17 oz.)	18	5.975	ea	107.55T	
OY 5049	OYA Permanent Hair Color 7-87 (RC) (90 g / 3.17 oz.)	18	5.975	ea	107.55T	
OY 5054	OYA Permanent Hair Color 5-8 (R) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5055	OYA Permanent Hair Color 6-8 (R) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 5056	OYA Permanent Hair Color 7-8 (R) (90 g / 3.17 oz.)	36	5.975	ea	215.10T	
OY 6950	Perm Promo OYA Bump + Tone PLATINUM T-1 (A) (90 g / 3.17 oz.)	288	0.00	ea	0.00T	
OY 6951	OYA Bump + Tone STERLING T-11 (A+) (90 g / 3.17 oz.)	432	0.00	ea	0.00T	
OY 5072	20% OFF Intro Deal Price OYA Hybrid Booster VIOLET	36	4.78	ea	172.08T	
OY 5073	OYA Hybrid Booster Double Violet	36	4.78	ea	172.08T	
					Subtotal	
					Sales Tax (0.0%)	
					Total	

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	

Payments/Credits
Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
2/5/2026	WEB026496

Bill To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

Ship To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
179484			Net 30			3/7/2026

Item	Description	Quantity	Rate	U/M	Amount
OY 5074	OYA Hybrid Booster RED	36	4.78	ea	172.08T
OY 5075	OYA Hybrid Booster BLUE	36	4.78	ea	172.08T
OY 5076	OYA Hybrid Booster ORANGE	36	4.78	ea	172.08T
OY 5077	OYA Hybrid Booster YELLOW	36	4.78	ea	172.08T
OY 5078	OYA Hybrid Booster GREEN	36	4.78	ea	172.08T
OY 5079	OYA Hybrid Booster CLEAR	36	4.78	ea	172.08T
OY 7001	OYA Lotion 5 vol. (946 ml / 32 fl. oz.)	36	4.50	ea	162.00T
OY 7002	OYA Lotion 10 vol. (946 ml / 32 fl. oz.)	48	4.50	ea	216.00T
OY 7003	OYA Lotion 20 vol. (946 ml / 32 fl. oz.)	24	4.50	ea	108.00T
OY 7004	OYA Lotion 30 vol. (946 ml / 32 fl. oz.)	24	4.50	ea	108.00T
OY 7005	OYA Lotion 40 vol. (946 ml / 32 fl. oz.)	24	4.50	ea	108.00T
OY 7505	OYA Blonde 9 Lightening Powder (450 g / 16 oz.) DUO PROMO	48	10.00	ea	480.00T
OY 7507	OYA Blonde Zero Ammonia Lightening Powder (450 g / 16 oz.) DUO PROMO	48	10.00	ea	480.00T
OY 8087	20% OFF Fresco OYA Fresco Conditioner - Azul (200ml / 6.9 fl.oz.)	30	6.00	ea	180.00T
OY 8042	OYA R.O. Conditioner 300 ml / 10.1 fl. oz.	24	8.75	ea	210.00T
OY 8044	OYA Leave In Conditioner 300 ml / 10.1 fl. oz.	36	8.00	ea	288.00T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal.Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
2/5/2026	WEB026496

Bill To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

Ship To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
179484			Net 30			3/7/2026
Item	Description		Quantity	Rate	U/M	Amount
OY 8110	OYA Textyle (250 ml / 7.4 oz. net wt.) DUO PROMO		120	6.25	ea	750.00T
OY 8112	OYA Bungee (294 ml / 10 oz. net wt.) DUO PROMO		60	6.25	ea	375.00T
OY 6080	Liquid Rapid Toner Deal Special Price OYA Liquid Rapid Toner T-1 (A) Ocean (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6081	OYA Liquid Rapid Toner T-11 (A+) Cloudburst (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6082	OYA Liquid Rapid Toner T-54 (GB) Sunray (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6083	OYA Liquid Rapid Toner T-59 (GV) Sandstorm (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6084	OYA Liquid Rapid Toner T- 9 (V) Starbright (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6085	OYA Liquid Rapid Toner T-91 (VA) Snowfall (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6086	OYA Liquid Rapid Toner T-99 (V+) Nebula (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6087	OYA Liquid Rapid Toner CLEAR (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
OY 6089	OYA Liquid Rapid Toner Pluto L-01(NA) (60 ml / 2.1 fl. oz.)		24	2.895	ea	69.48T
				Subtotal		
				Sales Tax (0.0%)		
				Total		

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	

Subtotal
Sales Tax (0.0%)
Total
Payments/Credits
Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
2/5/2026	WEB026496

Bill To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

Ship To
Mid America Beauty Supply 221 Old Meramec Station Rd Ballwin, MO 63021

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
179484			Net 30			3/7/2026

Item	Description	Quantity	Rate	U/M	Amount
OY 6090	OYA Liquid Rapid Toner Earth L-0(N) (60 ml / 2.1 fl. oz.)	24	2.895	ea	69.48T
OY 6091	OYA Liquid Rapid Toner L-04(NB) Dune (60 ml / 2.1 fl. oz.)	24	2.895	ea	69.48T
OY 6092	OYA Liquid Rapid Toner Aura L-59 (GV) (60 ml / 2.1 fl. oz.)	24	2.895	ea	69.48T
OY 7006	OYA Liquid Rapid Activator (1 L / 33.8 fl. oz.)	12	4.25	ea	51.00T
OY 9082	OYA Liquid Rapid Toner Swatch Ring - w/ LL Update	12	0.00	ea	0.00T
OY 9030	OYA Blonde Applicator Bottle	12	0.00	ea	0.00T
OY 4180	OYA Liquid Rapid Toner Tech Guide	12	0.00	ea	0.00T
OY 9082	Sales Rep Samples (5 Reps) OYA Liquid Rapid Toner Swatch Ring - w/ LL Update	5	0.00	ea	0.00T
OY 6089	OYA Liquid Rapid Toner Pluto L-01(NA) (60 ml / 2.1 fl. oz.)	5	0.00	ea	0.00T
OY 6090	OYA Liquid Rapid Toner Earth L-0(N) (60 ml / 2.1 fl. oz.)	5	0.00	ea	0.00T
OY 6091	OYA Liquid Rapid Toner L-04(NB) Dune (60 ml / 2.1 fl. oz.)	5	0.00	ea	0.00T
OY 6092	OYA Liquid Rapid Toner Aura L-59 (GV) (60 ml / 2.1 fl. oz.)	5	0.00	ea	0.00T
Fedex: 398464987911					

		Subtotal	\$14,402.10
		Sales Tax (0.0%)	\$0.00
		Total	\$14,402.10
Balance Due with 2% Pre Payment		Payments/Credits	-\$8,623.23
CC Bal.Due with 2% Pre Pay		Balance Due	\$5,778.87



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
5/30/2025	WEB023878

PAID
 05/29/2025

Bill To	Ship To
Central States Supply 5316 Illinois Road Fort Wayne, IN 46804	Central States Supply 5316 Illinois Road Fort Wayne, IN 46804

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178313		NORTH	Net 7	130225005d		6/6/2025
Item	Description	Quantity	Rate	U/M	Amount	
OY 5001	OYA Permanent Hair Color 1-0 (N) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5003	OYA Permanent Hair Color 4-0 (N) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5005	OYA Permanent Hair Color 6-0 (N) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5006	OYA Permanent Hair Color 7-0 (N) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5007	OYA Permanent Hair Color 8-0 (N) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5009	OYA Permanent Hair Color 10-0 (N) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5081	OYA Permanent Hair Color 4-00 (N+) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5011	OYA Permanent Hair Color 6-00 (N+) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5012	OYA Permanent Hair Color 7-00 (N+) (90 g / 3.17 oz.)	240	5.975	ea	1,434.00T	
OY 5013	OYA Permanent Hair Color 8-00 (N+) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5014	OYA Permanent Hair Color 9-00 (N+) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5018	OYA Permanent Hair Color 5-1 (A) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	

Subtotal	
Sales Tax (0.0%)	
Total	
Payments/Credits	
Balance Due	
Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
5/30/2025	WEB023878

PAID
 05/29/2025

Bill To	Ship To
Central States Supply 5316 Illinois Road Fort Wayne, IN 46804	Central States Supply 5316 Illinois Road Fort Wayne, IN 46804

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178313		NORTH	Net 7	130225005d		6/6/2025
Item	Description	Quantity	Rate	U/M	Amount	
OY 5019	OYA Permanent Hair Color 6-1 (A) (90 g / 3.17 oz.)	180	5.975	ea	1,075.50T	
OY 5020	OYA Permanent Hair Color 7-1 (A) (90 g / 3.17 oz.)	180	5.975	ea	1,075.50T	
OY 5023	OYA Permanent Hair Color 10-1 (A) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5026	OYA Permanent Hair Color 7-4 (B) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5029	OYA Permanent Hair Color 10-4 (B) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5082	OYA Permanent Hair Color 3-7 (C) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5083	OYA Permanent Hair Color 4-7 (C) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5043	OYA Permanent Hair Color 5-7 (C) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5049	OYA Permanent Hair Color 7-87 (RC) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5054	OYA Permanent Hair Color 5-8 (R) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5069	OYA Permanent Hair Color 12-1 (A) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 6045	OYA Demi-Permanent Hair Color 4-1 (A) (90 g / 3.17 oz.)	60	5.75	ea	345.00T	
OY 6046	OYA Demi-Permanent Hair Color 5-1 (A) (90 g / 3.17 oz.)	60	5.75	ea	345.00T	

Subtotal
Sales Tax (0.0%)
Total
Payments/Credits
Balance Due

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
5/30/2025	WEB023878

PAID
 05/29/2025

Bill To	Ship To
Central States Supply 5316 Illinois Road Fort Wayne, IN 46804	Central States Supply 5316 Illinois Road Fort Wayne, IN 46804

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178313		NORTH	Net 7	130225005d		6/6/2025
Item	Description	Quantity	Rate	U/M	Amount	
OY 6047	OYA Demi-Permanent Hair Color 7-1 (A) (90 g / 3.17 oz.)	60	5.75	ea	345.00T	
OY 6048	OYA Demi-Permanent Hair Color 9-1 (A) (90 g / 3.17 oz.)	60	5.75	ea	345.00T	
	20% OFF					
OY 7001	OYA Lotion 5 vol. (946 ml / 32 fl. oz.)	36	3.60	ea	129.60T	
OY 7002	OYA Lotion 10 vol. (946 ml / 32 fl. oz.)	144	3.60	ea	518.40T	
OY 7003	OYA Lotion 20 vol. (946 ml / 32 fl. oz.)	144	3.60	ea	518.40T	
OY 7004	OYA Lotion 30 vol. (946 ml / 32 fl. oz.)	60	3.60	ea	216.00T	
OY 7005	OYA Lotion 40 vol. (946 ml / 32 fl. oz.)	36	3.60	ea	129.60T	
OY 7505	OYA Blonde 9 Lightening Powder (450 g / 16 oz.) Special Promo	288	10.00	ea	2,880.00T	
OY 9110	OYA Blonde Black Hologram Tote	57	0.00	ea	0.00T	
OY 8080	OYA Fresco Conditioner - Sangria (200ml / 6.9 fl.oz)	15	7.50	ea	112.50T	
OY 8043	OYA R.O. Conditioner 1L / 33.8 fl. oz.	6	22.50	ea	135.00T	
OY 8026	OYA Revamp (285 ml / 8.5 oz. net wt.)	60	12.50	ea	750.00T	
OY 8030	OYA Cashmere (80 ml / 2.7 fl. oz.)	12	7.00	ea	84.00T	
OY 8035	OYA Velvet (500 ml / 16.9 fl. oz.)	36	12.50	ea	450.00T	
OY 7510	OYA Remove (118 ml / 4 fl. oz.)	12	9.00	ea	108.00T	

		Subtotal
		Sales Tax (0.0%)
		Total
		Payments/Credits
		Balance Due
Balance Due with 2% Pre Payment		
CC Bal.Due with 2% Pre Pay		



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
5/30/2025	WEB023878

PAID
 05/29/2025

Bill To	Ship To
Central States Supply 5316 Illinois Road Fort Wayne, IN 46804	Central States Supply 5316 Illinois Road Fort Wayne, IN 46804

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178313		NORTH	Net 7	130225005d		6/6/2025

Item	Description	Quantity	Rate	U/M	Amount
OY 8100	OYA Shield (236ml / 8 fl. oz)	12	7.50	ea	90.00T
OY 8103	OYA Reflect (50 ml / 1.7 fl. oz.)	12	8.00	ea	96.00T
OY 8107	OYA Finit (250 ml / 7.5 oz. net wt.)	24	7.50	ea	180.00T
OY 8109	OYA Contour (250 ml / 8.75 oz. net wt.)	12	7.50	ea	90.00T
OY 8115	OYA Bonus Textyle (265 ml / 9 oz. net wt.)	144	8.00	ea	1,152.00T
	Sub Total				21,208.50
OYA Prepay Disc	2% Discount for Prepayment OYA		-2.00%		-424.17
	Fedex: 289246020764				

Subtotal		\$20,784.33
Sales Tax (0.0%)		\$0.00
Total		\$20,784.33
Payments/Credits		-\$20,784.33
Balance Due		\$0.00

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Ship To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738
--	--

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 5001	OYA Permanent Hair Color 1-0 (N) (90 g / 3.17 oz.)	24	4.10	ea		98.40T
OY 5002	OYA Permanent Hair Color 3-0 (N) (90 g / 3.17 oz.)	25	4.10	ea		102.50T
OY 5003	OYA Permanent Hair Color 4-0 (N) (90 g / 3.17 oz.)	100	4.10	ea		410.00T
OY 5004	OYA Permanent Hair Color 5-0 (N) (90 g / 3.17 oz.)	130	4.10	ea		533.00T
OY 5005	OYA Permanent Hair Color 6-0 (N) (90 g / 3.17 oz.)	34	4.10	ea		139.40T
OY 5006	OYA Permanent Hair Color 7-0 (N) (90 g / 3.17 oz.)	39	4.10	ea		159.90T
OY 5007	OYA Permanent Hair Color 8-0 (N) (90 g / 3.17 oz.)	101	4.10	ea		414.10T
OY 5008	OYA Permanent Hair Color 9-0 (N) (90 g / 3.17 oz.)	19	4.10	ea		77.90T
OY 5009	OYA Permanent Hair Color 10-0 (N) (90 g / 3.17 oz.)	31	4.10	ea		127.10T
OY 5080	OYA Permanent Hair Color 3-00 (N+) (90 g / 3.17 oz.)	28	4.10	ea		114.80T
OY 5081	OYA Permanent Hair Color 4-00 (N+) (90 g / 3.17 oz.)	44	4.10	ea		180.40T
OY 5010	OYA Permanent Hair Color 5-00 (N+) (90 g / 3.17 oz.)	54	4.10	ea		221.40T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Ship To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738
--	--

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 5011	OYA Permanent Hair Color 6-00 (N+) (90 g / 3.17 oz.)	83	4.10	ea		340.30T
OY 5014	OYA Permanent Hair Color 9-00 (N+) (90 g / 3.17 oz.)	102	4.10	ea		418.20T
OY 5015	OYA Permanent Hair Color 1-1 (A) (90 g / 3.17 oz.)	30	4.10	ea		123.00T
OY 5016	OYA Permanent Hair Color 3-1 (A) (90 g / 3.17 oz.)	42	4.10	ea		172.20T
OY 5017	OYA Permanent Hair Color 4-1 (A) (90 g / 3.17 oz.)	50	4.10	ea		205.00T
OY 5018	OYA Permanent Hair Color 5-1 (A) (90 g / 3.17 oz.)	26	4.10	ea		106.60T
OY 5019	OYA Permanent Hair Color 6-1 (A) (90 g / 3.17 oz.)	53	4.10	ea		217.30T
OY 5020	OYA Permanent Hair Color 7-1 (A) (90 g / 3.17 oz.)	19	4.10	ea		77.90T
OY 5021	OYA Permanent Hair Color 8-1 (A) (90 g / 3.17 oz.)	30	4.10	ea		123.00T
OY 5022	OYA Permanent Hair Color 9-1 (A) (90 g / 3.17 oz.)	24	4.10	ea		98.40T
OY 5023	OYA Permanent Hair Color 10-1 (A) (90 g / 3.17 oz.)	22	4.10	ea		90.20T
OY 5024	OYA Permanent Hair Color 5-4 (B) (90 g / 3.17 oz.)	30	4.10	ea		123.00T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 5025	OYA Permanent Hair Color 6-4 (B) (90 g / 3.17 oz.)	69	4.10	ea		282.90T
OY 5027	OYA Permanent Hair Color 8-4 (B) (90 g / 3.17 oz.)	8	4.10	ea		32.80T
OY 5028	OYA Permanent Hair Color 9-4 (B) (90 g / 3.17 oz.) (21 stated)	0	4.10	ea		0.00T
OY 5029	OYA Permanent Hair Color 10-4 (B) (90 g / 3.17 oz.)	41	4.10	ea		168.10T
OY 5030	OYA Permanent Hair Color 4-5 (G) (90 g / 3.17 oz.)	23	4.10	ea		94.30T
OY 5031	OYA Permanent Hair Color 5-5 (G) (90 g / 3.17 oz.)	49	4.10	ea		200.90T
OY 5032	OYA Permanent Hair Color 6-5 (G) (90 g / 3.17 oz.)	36	4.10	ea		147.60T
OY 5033	OYA Permanent Hair Color 7-5 (G) (90 g / 3.17 oz.)	18	4.10	ea		73.80T
OY 5034	OYA Permanent Hair Color 8-5 (G) (90 g / 3.17 oz.)	32	4.10	ea		131.20T
OY 5035	OYA Permanent Hair Color 9-5 (G) (90 g / 3.17 oz.)	29	4.10	ea		118.90T
OY 5036	OYA Permanent Hair Color 10-5 (G) (90 g / 3.17 oz.)	60	4.10	ea		246.00T
OY 5037	OYA Permanent Hair Color 3-6 (M) (90 g / 3.17 oz.)	24	4.10	ea		98.40T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 5038	OYA Permanent Hair Color 4-6 (M) (90 g / 3.17 oz.)	10	4.10	ea		41.00T
OY 5039	OYA Permanent Hair Color 5-6 (M) (90 g / 3.17 oz.)	31	4.10	ea		127.10T
OY 5040	OYA Permanent Hair Color 6-6 (M) (90 g / 3.17 oz.)	12	4.10	ea		49.20T
OY 5041	OYA Permanent Hair Color 7-6 (M) (90 g / 3.17 oz.)	32	4.10	ea		131.20T
OY 5042	OYA Permanent Hair Color 8-6 (M) (90 g / 3.17 oz.)	48	4.10	ea		196.80T
OY 5043	OYA Permanent Hair Color 5-7 (C) (90 g / 3.17 oz.)	26	4.10	ea		106.60T
OY 5044	OYA Permanent Hair Color 6-7 (C) (90 g / 3.17 oz.)	23	4.10	ea		94.30T
OY 5045	OYA Permanent Hair Color 7-7 (C) (90 g / 3.17 oz.)	50	4.10	ea		205.00T
OY 5046	OYA Permanent Hair Color 8-7 (C) (90 g / 3.17 oz.)	23	4.10	ea		94.30T
OY 5047	OYA Permanent Hair Color 9-7 (C) (90 g / 3.17 oz.)	48	4.10	ea		196.80T
OY 5048	OYA Permanent Hair Color 6-87 (RC) (90 g / 3.17 oz.)	13	4.10	ea		53.30T
OY 5049	OYA Permanent Hair Color 7-87 (RC) (90 g / 3.17 oz.)	37	4.10	ea		151.70T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Ship To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738
--	--

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 5052	OYA Permanent Hair Color 3-8 (R) (90 g / 3.17 oz.)	57	4.10	ea		233.70T
OY 5053	OYA Permanent Hair Color 4-8 (R) (90 g / 3.17 oz.)	20	4.10	ea		82.00T
OY 5054	OYA Permanent Hair Color 5-8 (R) (90 g / 3.17 oz.)	31	4.10	ea		127.10T
OY 5055	OYA Permanent Hair Color 6-8 (R) (90 g / 3.17 oz.)	44	4.10	ea		180.40T
OY 5056	OYA Permanent Hair Color 7-8 (R) (90 g / 3.17 oz.)	21	4.10	ea		86.10T
OY 5057	OYA Permanent Hair Color 3-9 (V) (90 g / 3.17 oz.)	58	4.10	ea		237.80T
OY 5058	OYA Permanent Hair Color 4-9 (V) (90 g / 3.17 oz.)	87	4.10	ea		356.70T
OY 5060	OYA Permanent Hair Color 5-9 (V) (90 g / 3.17 oz.)	46	4.10	ea		188.60T
OY 5061	OYA Permanent Hair Color 6-9 (V) (90 g / 3.17 oz.)	44	4.10	ea		180.40T
OY 5062	OYA Permanent Hair Color Violet (90 g / 3.17 oz.)	46	4.10	ea		188.60T
OY 5063	OYA Permanent Hair Color Blue (90 g / 3.17 oz.)	47	4.10	ea		192.70T
OY 5064	OYA Permanent Hair Color Yellow (90 g / 3.17 oz.)	52	4.10	ea		213.20T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Ship To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738
--	--

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 5065	OYA Permanent Hair Color Orange (90 g / 3.17 oz.)	33	4.10	ea		135.30T
OY 5066	OYA Permanent Hair Color Red (90 g / 3.17 oz.)	34	4.10	ea		139.40T
OY 5067	OYA Permanent Hair Color 12-0 (N) (90 g / 3.17 oz.)	51	4.10	ea		209.10T
OY 5068	OYA Permanent Hair Color 12-9 (V) (90 g / 3.17 oz.)	35	4.10	ea		143.50T
OY 5069	OYA Permanent Hair Color 12-1 (A) (90 g / 3.17 oz.)	27	4.10	ea		110.70T
OY 5070	OYA Permanent Hair Color 12-4 (B) (90 g / 3.17 oz.)	65	4.10	ea		266.50T
OY 5071	OYA Permanent Hair Color 0-00 (90 g / 3.17 oz.)	18	4.10	ea		73.80T
OY 6000	OYA Demi-Permanent Hair Color 1-0 (N) (90 g / 3.17 oz.)	15	4.04	ea		60.60T
OY 6001	OYA Demi-Permanent Hair Color 3-0 (N) (90 g / 3.17 oz.)	6	4.04	ea		24.24T
OY 6002	OYA Demi-Permanent Hair Color 4-0 (N) (90 g / 3.17 oz.)	0	4.04	ea		0.00T
OY 6003	OYA Demi-Permanent Hair Color 5-0 (N) (90 g / 3.17 oz.)	30	4.04	ea		121.20T
OY 6004	OYA Demi-Permanent Hair Color 6-0 (N) (90 g / 3.17 oz.)	44	4.04	ea		177.76T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
Suite 200
Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6005	OYA Demi-Permanent Hair Color 7-0 (N) (90 g / 3.17 oz.)	35	4.04	ca		141.40T
OY 6007	OYA Demi-Permanent Hair Color 9-0 (N) (90 g / 3.17 oz.)	46	4.04	ea		185.84T
OY 6008	OYA Demi-Permanent Hair Color 10-0 (N) (90 g / 3.17 oz.)	54	4.04	ea		218.16T
OY 6009	OYA Demi-Permanent Hair Color 3-1 (A) (90 g / 3.17 oz.)	50	4.04	ea		202.00T
OY 6010	OYA Demi-Permanent Hair Color 6-1 (A) (90 g / 3.17 oz.)	40	4.04	ea		161.60T
OY 6011	OYA Demi-Permanent Hair Color 8-1 (A) (90 g / 3.17 oz.)	31	4.04	ea		125.24T
OY 6012	OYA Demi-Permanent Hair Color 10-1 (A) (90 g / 3.17 oz.)	48	4.04	ca		193.92T
OY 6013	OYA Demi-Permanent Hair Color 6-4 (B) (90 g / 3.17 oz.)	54	4.04	ca		218.16T
OY 6014	OYA Demi-Permanent Hair Color 7-4 (B) (90 g / 3.17 oz.)	44	4.04	ca		177.76T
OY 6015	OYA Demi Permanent Hair Color 8-4 (B) (90 g / 3.17 oz.)	46	4.04	ca		185.84T
OY 6016	OYA Demi Permanent Hair Color 10-4 (B) (90 g / 3.17 oz.)	53	4.04	ca		214.12T
OY 6017	OYA Demi Permanent Hair Color 5-5 (G) (90 g / 3.17 oz.)	59	4.04	ca		238.36T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6018	OYA Demi Permanent Hair Color 6-5 (G) (90 g / 3.17 oz.)	55	4.04	ea		222.20T
OY 6019	OYA Demi Permanent Hair Color 7-5 (G) (90 g / 3.17 oz.)	55	4.04	ea		222.20T
OY 6020	OYA Demi Permanent Hair Color 8-5 (G) (90 g / 3.17 oz.)	50	4.04	ea		202.00T
OY 6021	OYA Demi Permanent Hair Color 10- 5 (G) (90 g / 3.17 oz.)	47	4.04	ea		189.88T
OY 6022	OYA Demi Permanent Hair Color 3-6 (90 g / 3.17 oz.)	58	4.04	ea		234.32T
OY 6023	OYA Demi Permanent Hair Color 4-6 (M) (90 g / 3.17 oz.)	60	4.04	ea		242.40T
OY 6024	OYA Demi Permanent Hair Color 5-6 (M) (90 g / 3.17 oz.)	55	4.04	ea		222.20T
OY 6025	OYA Demi Permanent Hair Color 6-6 (M) (90 g / 3.17 oz.)	46	4.04	ea		185.84T
OY 6026	OYA Demi Permanent Hair Color 5-7 (C) (90 g / 3.17 oz.)	52	4.04	ea		210.08T
OY 6027	OYA Demi Permanent Hair Color 6-7 (C) (90 g / 3.17 oz.)	52	4.04	ea		210.08T
OY 6028	OYA Demi Permanent Hair Color 7-7 (C) (90 g / 3.17 oz.)	4	4.04	ea		16.16T
OY 6029	OYA Demi Permanent Hair Color 6-87 (RC) (90 g / 3.17 oz.)	51	4.04	ea		206.04T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6030	OYA Demi Permanent Hair Color 7-87 (RC) (90 g / 3.17 oz.)	39	4.04	ea		157.56T
OY 6031	OYA Demi Permanent Hair Color 4-8 (R) (90 g / 3.17 oz.)	57	4.04	ea		230.28T
OY 6032	OYA Demi Permanent Hair Color 5-8 (R) (90 g / 3.17 oz.)	53	4.04	ea		214.12T
OY 6033	OYA Demi Permanent Hair Color 6-8 (R) (90 g / 3.17 oz.)	50	4.04	ea		202.00T
OY 6034	OYA Demi Permanent Hair Color 3-9 (V) (90 g / 3.17 oz.)	60	4.04	ea		242.40T
OY 6035	OYA Demi Permanent Hair Color 4-9 (V) (90 g / 3.17 oz.)	52	4.04	ea		210.08T
OY 6036	OYA Demi Permanent Hair Color 6-9 (V) (90 g / 3.17 oz.)	57	4.04	ea		230.28T
OY 6037	OYA Demi Permanent Hair Color Violet (90 g / 3.17 oz.)	25	4.04	ea		101.00T
OY 6038	OYA Demi Permanent Hair Color Blue (90 g / 3.17 oz.)	27	4.04	ea		109.08T
OY 6039	OYA Demi Permanent Hair Color Yellow (90 g / 3.17 oz.)	27	4.04	ea		109.08T
OY 6040	OYA Demi Permanent Hair Color Orange (90 g / 3.17 oz.)	23	4.04	ea		92.92T
OY 6042	OYA Demi Permanent Hair Color 0-0 Clear (90 g / 3.17 oz.)	14	4.04	ea		56.56T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Ship To Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738
--	--

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6043	OYA Demi Permanent Hair Color 10-91 (VA) (90 g / 3.17 oz.)	82	4.04	ea		331.28T
OY 6044	OYA Demi Permanent Hair Color 8-91 (VA) (90 g / 3.17 oz.)	14	4.04	ea		56.56T
OY 7002	OYA Lotion 10 vol. (946 ml / 32 fl. oz.)	13	4.04	ea		52.52T
OY 7003	OYA Lotion 20 vol. (946 ml / 32 fl. oz.)	15	4.04	ea		60.60T
OY 7004	OYA Lotion 30 vol. (946 ml / 32 fl. oz.)	45	4.04	ea		181.80T
OY 7005	OYA Lotion 40 vol. (946 ml / 32 fl. oz.)	11	4.04	ea		44.44T
OY 7506	OYA Blonde 7 Level Lift Lightening Powder (450 g / 16 oz.)	12	11.62	ea		139.44T
OY 6080	OYA Liquid Rapid Toner T-1 (A) Ocean (60 ml / 2.1 fl. oz.)	22	3.27	ea		71.94T
OY 6081	OYA Liquid Rapid Toner T-11 (A+) Cloudburst (60 ml / 2.1 fl. oz.)	24	3.27	ea		78.48T
OY 6082	OYA Liquid Rapid Toner T-54 (GB) Sunray (60 ml / 2.1 fl. oz.)	48	3.27	ea		156.96T
OY 6083	OYA Liquid Rapid Toner T-59 (GV) Sandstorm (60 ml / 2.1 fl. oz.)	32	3.27	ea		104.64T
OY 6084	OYA Liquid Rapid Toner T-9 (V) Starbright (60 ml / 2.1 fl. oz.)	24	3.27	ea		78.48T
OY 6085	OYA Liquid Rapid Toner T-91 (VA) Snowfall (60 ml / 2.1 fl. oz.)	23	3.27	ea		75.21T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6086	OYA Liquid Rapid Toner T-99 (V+) Nebula (60 ml / 2.1 fl. oz.)	24	3.27	ea		78.48T
OY 6087	OYA Liquid Rapid Toner CLEAR (60 ml / 2.1 fl. oz.)	36	3.27	ea		117.72T
OY 7006	OYA Liquid Rapid Activator (1 L / 33.8 fl. oz.)	12	4.12	ea		49.44T
OY 9030	OYA Blonde Applicator Bottle	10	1.00	ea		10.00T
OY 9080	OYA Liquid Rapid Toner Swatch Ring	25	15.00	ea		375.00T
OY 6900	OYA Wild Direct Color Magma (90 g / 3.17 oz.)	87	3.25	ea		282.75T
OY 6901	OYA Wild Direct Color Inferno (90 g / 3.17 oz.)	86	3.25	ea		279.50T
OY 6902	OYA Wild Direct Color Sunflower (90 g / 3.17 oz.)	49	3.25	ea		159.25T
OY 6903	OYA Wild Direct Color Ivy (90 g / 3.17 oz.)	57	3.25	ea		185.25T
OY 6904	OYA Wild Direct Color Lagoon (90 g / 3.17 oz.)	20	3.25	ea		65.00T
OY 6905	OYA Wild Direct Color Ultraviolet (90 g / 3.17 oz.)	69	3.25	ea		224.25T
OY 6906	OYA Wild Direct Color Flamingo (90 g / 3.17 oz.)	74	3.25	ea		240.50T
OY 6907	OYA Wild Direct Color Pomegranate (90 g / 3.17 oz.)	72	3.25	ea		234.00T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal. Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6908	OYA Wild Direct Color Eclipse (90 g / 3.17 oz.)	49	3.25	ea		159.25T
OY 6909	OYA Wild Direct Color Slate (90 g / 3.17 oz.)	58	3.25	ea		188.50T
OY 6910	OYA Wild Direct Color Clear (90 g / 3.17 oz.)	32	3.25	ea		104.00T
OY 6911	OYA Wild Direct Color Dynamite (90 g / 3.17 oz.)	53	3.25	ea		172.25T
OY 6912	OYA Wild Direct Color Aruba (90 g / 3.17 oz.)	45	3.25	ea		146.25T
OY 6913	OYA Wild Direct Color Moonshadow (90 g / 3.17 oz.)	45	3.25	ea		146.25T
OY 9020	OYA Wild Fan Blade Color Chart	0	10.00	ea		0.00T
OY 6950	OYA Bump + Tone PLATINUM T-1 (A) (90 g / 3.17 oz.)	43	3.33	ea		143.19T
OY 6951	OYA Bump + Tone STERLING T-11 (A+) (90 g / 3.17 oz.)	103	3.33	ea		342.99T
OY 6952	OYA Bump + Tone SANDALWOOD T-15 (AG) (90 g / 3.17 oz.)	139	3.33	ea		462.87T
OY 6953	OYA Bump + Tone BELLINI T-57 (GC) (90 g / 3.17 oz.)	152	3.33	ea		506.16T
OY 6954	OYA Bump + Tone MACCHIATO T-6 (M) (90 g / 3.17 oz.)	145	3.33	ea		482.85T

Subtotal				
Sales Tax (0.0%)				
Total				

Balance Due with 2% Pre Payment	
CC Bal. Due with 2% Pre Pay	

Payments/Credits
Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
 05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 6955	OYA Bump + Tone ROSÉ T-84 (RB) (90 g / 3.17 oz.)	155	3.33	ea		516.15T
OY 6956	OYA Bump + Tone AMETHYST T-9 (V) (90 g / 3.17 oz.)	137	3.33	ea		456.21T
OY 8080	OYA Fresco Conditioner - Sangria (200ml / 6.9 fl.oz)	25	6.65	ea		166.25T
OY 8081	OYA Fresco Conditioner - Cognac (200ml / 6.9 fl.oz.)	65	6.65	ea		432.25T
OY 8082	OYA Fresco Conditioner - Bourbon (200ml / 6.9 fl.oz.)	43	6.65	ea		285.95T
OY 8083	OYA Fresco Conditioner - Prosecco (200ml / 6.9 fl.oz.)	47	6.65	ea		312.55T
OY 8084	OYA Fresco Conditioner - Cosmopolitan (200ml / 6.9 fl.oz.)	77	6.65	ea		512.05T
OY 8085	OYA Fresco Conditioner - Martini (200ml / 6.9 fl.oz.)	40	6.65	ea		266.00T
OY 8086	OYA Fresco Conditioner - Gin & Tonic (200ml / 6.9 fl.oz.)	8	6.65	ea		53.20T
OY 8040	OYA Shampoo S.F. 300 ml / 10.1 fl. oz	45	6.75	ea		303.75T
OY 8041	OYA Shampoo S.F. 1L / 33.8 fl. oz.	11	16.65	ea		183.15T
OY 8047	OYA Blonde Platinum Shampoo 300 ml / 10.1 fl. oz. (27 stated)	0	7.80	ea		0.00T
OY 8017	OYA R.O. Conditioner 236ml / 8 fl. oz..	33	7.50	ea		247.50T

		Subtotal
		Sales Tax (0.0%)
		Total
		Payments/Credits
		Balance Due

Balance Due with 2% Pre Payment	
CC Bal. Due with 2% Pre Pay	



Helias LLC
Suite 200
Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
OY 8022	OYA R.O. Conditioner 943 ml / 31.9 fl. oz.	29	20.25	ea		587.25T
OY 8018	OYA Leave In Conditioner 236ml / 8 fl. oz..	24	6.32	ea		151.68T
OY 8010	OYA Treatment 200ml / 6.8 fl. oz.	29	7.27	ea		210.83T
OY 8046	OYA Clarity Shampoo 1 L / 33.8 fl. oz.	6	9.90	ea		59.40T
OY 8045	OYA Clarity Shampoo (300 ml / 10.1 fl. oz.)	31	6.30	ea		195.30T
OY 8025	OYA Awake (250 ml / 5.3 oz. net wt.)	50	6.75	ea		337.50T
OY 8026	OYA Revamp (285 ml / 8.5 oz. net wt.)	24	8.00	ea		192.00T
OY 8024	OYA Elixir (50 ml / 1.7 fl. oz.)	14	8.31	ea		116.34T
OY 8030	OYA Cashmere (80 ml / 2.7 fl. oz.)	39	6.32	ea		246.48T
OY 8031	OYA Velvet Instant Liquid Treatment (200 ml / 6.76 Oz)	108	6.79	ea		733.32T
OY 7510	OYA Remove (118 ml / 4 fl. oz.)	60	6.75	ea		405.00T
OY 7522	OYA Elixir 250ml (250 ml / 8.5 fl. oz.)	19	35.63	ea		676.97T
OY 8100	OYA Shield (236ml / 8 fl. oz)	30	6.50	ea		195.00T
OY 8103	OYA Reflect (50 ml / 1.7 fl. oz.)	8	7.20	ea		57.60T
OY 8105	OYA Rogue (114 g / 4 oz.)	30	6.30	ea		189.00T
OY 8107	OYA Finit (250 ml / 7.5 oz. net wt.)	38	6.75	ea		256.50T
OY 8108	OYA Refine (250ml / 7.5 oz. net wt.)	16	6.75	ea		108.00T
OY 8109	OYA Contour (250 ml / 8.75 oz. net wt.)	14	6.75	ea		94.50T
OY 8110	OYA Textyle (250 ml / 7.4 oz. net wt.)	13	7.20	ea		93.60T
OY 8111	OYA Glow (250 ml / 6.8 oz. net wt.)	60	6.75	ea		405.00T
OYA Distribu...	OYA Distributor Sales Promotion Credit		-222.34			-222.34T

Subtotal	
Sales Tax (0.0%)	
Total	
Payments/Credits	
Balance Due	

Balance Due with 2% Pre Payment	
CC Bal. Due with 2% Pre Pay	



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
3/17/2025	WEB023372

oyabeauty.com

PAID
05/28/2025

Bill To	Ship To
Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738	Latina's Beauty Supply URB. Baral h1 Calle Principal, Fajardo Puerto Rico, 00738

S.O. No.	P.O. No.	Terms	Account #	Ship	Due Date
177970					5/27/2025

Item	Description	Quantity	Rate	U/M	Class	Amount
	Sub Total					33,438.75
OYA Sales Pr...	10% Discount	1	-3,344.47	ea		-3,344.47T
OY 9032	OYA Pink Logo Cape	40	5.70	ea		228.00T
OY 9012	OYA Mini Strand Chart	39	20.90	ea		815.10T
OY 9011	OYA Permanent Strand Chart International 01	37	57.00	ea		2,109.00T
OY 9007	Color Scale	36	10.00	ea		360.00T
OY 9015	OYA Bamboo Tint Bowl	59	2.00	ea		118.00T
OY 9016	OYA Bamboo Whisk	55	1.00	ea		55.00T
OY 9017	OYA Balayage Paint Brush	67	1.00	ea		67.00T
OY 9018	OYA Bamboo Detail Brush	45	1.00	ea		45.00T
OY 9019	OYA Bamboo Large Brush	37	1.00	ea		37.00T
OY 5705	OYA Window Decal	10	1.25	ea		12.50T
	Sub Total					502.13
OYA Sales Pr...	Sales Support Items Gratis	1	-3,846.00	ea		-3,846.00T

Subtotal		\$30,094.88
Sales Tax (0.0%)		\$0.00
Total		\$30,094.88
Balance Due with 2% Pre Payment		
CC Bal. Due with 2% Pre Pay		
Payments/Credits		-\$30,094.88
Balance Due		\$0.00



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
 10/23/2025

Bill To	Ship To
OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025
Item	Description	Quantity	Rate	U/M	Amount	
OY 5001	OYA Permanent Hair Color 1-0 (N) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5002	OYA Permanent Hair Color 3-0 (N) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5003	OYA Permanent Hair Color 4-0 (N) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5004	OYA Permanent Hair Color 5-0 (N) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
OY 5005	OYA Permanent Hair Color 6-0 (N) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5006	OYA Permanent Hair Color 7-0 (N) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5007	OYA Permanent Hair Color 8-0 (N) (90 g / 3.17 oz.)	120	5.975	ea	717.00T	
OY 5008	OYA Permanent Hair Color 9-0 (N) (90 g / 3.17 oz.)	30	5.975	ea	179.25T	
OY 5009	OYA Permanent Hair Color 10-0 (N) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5080	OYA Permanent Hair Color 3-00 (N+) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5081	OYA Permanent Hair Color 4-00 (N+) (90 g / 3.17 oz.)	30	5.975	ea	179.25T	
OY 5010	OYA Permanent Hair Color 5-00 (N+) (90 g / 3.17 oz.)	60	5.975	ea	358.50T	
					Subtotal	
					Sales Tax (0.0%)	
					Total	

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	

Subtotal	
Sales Tax (0.0%)	
Total	
Payments/Credits	
Balance Due	



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
 10/23/2025

Bill To	Ship To
OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025

Item	Description	Quantity	Rate	U/M	Amount
OY 5011	OYA Permanent Hair Color 6-00 (N+) (90 g / 3.17 oz.)	120	5.975	ea	717.00T
OY 5012	OYA Permanent Hair Color 7-00 (N+) (90 g / 3.17 oz.)	120	5.975	ea	717.00T
OY 5013	OYA Permanent Hair Color 8-00 (N+) (90 g / 3.17 oz.)	120	5.975	ea	717.00T
OY 5014	OYA Permanent Hair Color 9-00 (N+) (90 g / 3.17 oz.)	60	5.975	ea	358.50T
OY 5018	OYA Permanent Hair Color 5-1 (A) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5019	OYA Permanent Hair Color 6-1 (A) (90 g / 3.17 oz.)	30	5.975	ea	179.25T
OY 5020	OYA Permanent Hair Color 7-1 (A) (90 g / 3.17 oz.)	60	5.975	ea	358.50T
OY 5021	OYA Permanent Hair Color 8-1 (A) (90 g / 3.17 oz.)	60	5.975	ea	358.50T
OY 5022	OYA Permanent Hair Color 9-1 (A) (90 g / 3.17 oz.)	30	5.975	ea	179.25T
OY 5023	OYA Permanent Hair Color 10-1 (A) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5024	OYA Permanent Hair Color 5-4 (B) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5025	OYA Permanent Hair Color 6-4 (B) (90 g / 3.17 oz.)	30	5.975	ea	179.25T
OY 5026	OYA Permanent Hair Color 7-4 (B) (90 g / 3.17 oz.)	30	5.975	ea	179.25T
OY 5027	OYA Permanent Hair Color 8-4 (B) (90 g / 3.17 oz.)	30	5.975	ea	179.25T
OY 5028	OYA Permanent Hair Color 9-4 (B) (90 g / 3.17 oz.)	15	5.975	ea	89.63T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal.Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
10/23/2025

Bill To	Ship To
OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025

Item	Description	Quantity	Rate	U/M	Amount
OY 5029	OYA Permanent Hair Color 10-4 (B) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5030	OYA Permanent Hair Color 4-5 (G) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5032	OYA Permanent Hair Color 6-5 (G) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5033	OYA Permanent Hair Color 7-5 (G) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5034	OYA Permanent Hair Color 8-5 (G) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5035	OYA Permanent Hair Color 9-5 (G) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5037	OYA Permanent Hair Color 3-6 (M) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5038	OYA Permanent Hair Color 4-6 (M) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5039	OYA Permanent Hair Color 5-6 (M) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5040	OYA Permanent Hair Color 6-6 (M) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5041	OYA Permanent Hair Color 7-6 (M) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5042	OYA Permanent Hair Color 8-6 (M) (90 g / 3.17 oz.)	15	5.975	ea	89.63T
OY 5044	OYA Permanent Hair Color 6-7 (C) (90 g / 3.17 oz.)	15	5.975	ea	89.63T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal.Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
10/23/2025

Bill To	Ship To
OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025
Item	Description	Quantity	Rate	U/M	Amount	
OY 5045	OYA Permanent Hair Color 7-7 (C) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5046	OYA Permanent Hair Color 8-7 (C) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5048	OYA Permanent Hair Color 6-87 (RC) (90 g / 3.17 oz.)	15	5.975	ca	89.63T	
OY 5055	OYA Permanent Hair Color 6-8 (R) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5061	OYA Permanent Hair Color 6-9 (V) (90 g / 3.17 oz.)	15	5.975	ca	89.63T	
OY 5063	OYA Permanent Hair Color Blue (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5067	OYA Permanent Hair Color 12-0 (N) (90 g / 3.17 oz.)	15	5.975	ca	89.63T	
OY 5069	OYA Permanent Hair Color 12-1 (A) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5070	OYA Permanent Hair Color 12-4 (B) (90 g / 3.17 oz.)	15	5.975	ea	89.63T	
OY 5071	OYA Permanent Hair Color 0-00 (90 g / 3.17 oz.)	15	5.975	ca	89.63T	
OY 6000	OYA Demi-Permanent Hair Color 1-0 (N) (90 g / 3.17 oz.)	15	5.75	ca	86.25T	
OY 6002	OYA Demi-Permanent Hair Color 4-0 (N) (90 g / 3.17 oz.)	15	5.75	ca	86.25T	
OY 6003	OYA Demi-Permanent Hair Color 5-0 (N) (90 g / 3.17 oz.)	15	5.75	ca	86.25T	
OY 6004	OYA Demi-Permanent Hair Color 6-0 (N) (90 g / 3.17 oz.)	30	5.75	ca	172.50T	
					Subtotal	
					Sales Tax (0.0%)	
					Total	

Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	

Payments/Credits
Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
10/23/2025

Bill To	Ship To
OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025

Item	Description	Quantity	Rate	U/M	Amount
OY 6005	OYA Demi-Permanent Hair Color 7-0 (N) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6006	OYA Demi-Permanent Hair Color 8-0 (N) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6007	OYA Demi-Permanent Hair Color 9-0 (N) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6046	OYA Demi-Permanent Hair Color 5-1 (A) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6010	OYA Demi-Permanent Hair Color 6-1 (A) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6047	OYA Demi-Permanent Hair Color 7-1 (A) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6011	OYA Demi-Permanent Hair Color 8-1 (A) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6048	OYA Demi-Permanent Hair Color 9-1 (A) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6013	OYA Demi-Permanent Hair Color 6-4 (B) (90 g / 3.17 oz.)	30	5.75	ea	172.50T
OY 6014	OYA Demi-Permanent Hair Color 7-4 (B) (90 g / 3.17 oz.)	30	5.75	ea	172.50T
OY 6015	OYA Demi Permanent Hair Color 8-4 (B) (90 g / 3.17 oz.)	30	5.75	ea	172.50T

Subtotal	
Sales Tax (0.0%)	
Total	
Balance Due with 2% Pre Payment	
CC Bal.Due with 2% Pre Pay	
Payments/Credits	
Balance Due	



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
 10/23/2025

Bill To OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	Ship To NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172
---	--

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025

Item	Description	Quantity	Rate	U/M	Amount
OY 6021	OYA Demi Permanent Hair Color 10- 5 (G) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6025	OYA Demi Permanent Hair Color 6-6 (M) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6036	OYA Demi Permanent Hair Color 6-9 (V) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6037	OYA Demi Permanent Hair Color Violet (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6038	OYA Demi Permanent Hair Color Blue (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6042	OYA Demi Permanent Hair Color 0-0 Clear (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6043	OYA Demi Permanent Hair Color 10-91 (VA) (90 g / 3.17 oz.)	15	5.75	ea	86.25T
OY 6044	OYA Demi Permanent Hair Color 8-91 (VA) (90 g / 3.17 oz.)	30	5.75	ea	172.50T
OY 7002	OYA Lotion 10 vol. (946 ml / 32 fl. oz.)	36	4.50	ea	162.00T
OY 7003	OYA Lotion 20 vol. (946 ml / 32 fl. oz.)	96	4.50	ea	432.00T
OY 7004	OYA Lotion 30 vol. (946 ml / 32 fl. oz.)	24	4.50	ea	108.00T
OY 7505	OYA Blonde 9 Lightening Powder (450 g / 16 oz.)	60	11.975	ea	718.50T
OY 9104	OYA Blonde Pop Up Foils (Special Price)	48	8.25	ea	396.00T
OY 8040	OYA Shampoo S.F. 300 ml / 10.1 fl. oz	120	7.50	ea	900.00T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal.Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
 10/23/2025

Bill To	Ship To
OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025

Item	Description	Quantity	Rate	U/M	Amount
OY 8041	OYA Shampoo S.F. 1L / 33.8 fl. oz.	36	18.75	ea	675.00T
OY 8047	OYA Blonde Platinum Shampoo 300 ml / 10.1 fl. oz.	24	8.75	ea	210.00T
OY 8042	OYA R.O. Conditioner 300 ml / 10.1 fl. oz.	84	8.75	ea	735.00T
OY 8043	OYA R.O. Conditioner 1L / 33.8 fl. oz.	24	22.50	ea	540.00T
OY 8044	OYA Leave In Conditioner 300 ml / 10.1 fl. oz.	24	8.00	ea	192.00T
OY 8030	OYA Cashmere (80 ml / 2.7 fl. oz.)	132	7.00	ea	924.00T
OY 8031	OYA Velvet Instant Liquid Treatment (200 ml / 6.76 Oz) (DUO DEAL)	720	5.00	ea	3,600.00T
OY 8036	OYA Velvet Shampoo (300ml / 10.1 fl. oz) (DUO DEAL)	720	5.00	ea	3,600.00T
OY 8035	OYA Velvet (500 ml / 16.9 fl. oz.)	72	12.50	ea	900.00T
OY 7522	OYA Elixir 250ml (250 ml / 8.5 fl. oz.)	12	40.00	ea	480.00T
OY 8100	OYA Shield (236ml / 8 fl. oz)	36	7.50	ea	270.00T
OY 8100	OYA Shield (236ml / 8 fl. oz) BUY 3 GET 1 FREE	12	0.00	ea	0.00T
OY 8103	OYA Reflect (50 ml / 1.7 fl. oz.)	12	8.00	ea	96.00T
OY 8105	OYA Rogue (114 g / 4 oz.)	12	7.00	ea	84.00T
OY 8109	OYA Contour (250 ml / 8.75 oz. net wt.)	24	7.50	ea	180.00T
OY 8110	OYA Textyle (250 ml / 7.4 oz. net wt.)	48	8.00	ea	384.00T
OY 8111	OYA Glow (250 ml / 6.8 oz. net wt.)	96	7.50	ea	720.00T
OY 8112	OYA Bungee (294 ml / 10 oz. net wt.)	48	8.50	ea	408.00T

		Subtotal
		Sales Tax (0.0%)
		Total
Balance Due with 2% Pre Payment		Payments/Credits
CC Bal.Due with 2% Pre Pay		Balance Due



Helias LLC
 Suite 200
 Encino, CA 91316

Invoice

Date	Invoice #
8/29/2025	WEB024512

PAID
10/23/2025

Bill To OYA NCN Beauty Distributor Miami Victor Mendoza 520 Brickell Key Dr. #1219 Miami, FL 33131	Ship To NCN Beauty LLC 3200 NW 112th Ave, Unit C18 Doral, FL 33172
---	--

S.O. No.	P.O. No.	Rep	Terms	Account #	Ship	Due Date
178761			Net 60			10/28/2025

Item	Description	Quantity	Rate	U/M	Amount
	Free Goods				
OY 7002	OYA Lotion 10 vol. (946 ml / 32 fl. oz.)	30	0.00	ea	0.00T
OY 7003	OYA Lotion 20 vol. (946 ml / 32 fl. oz.)	50	0.00	ea	0.00T
OY 7004	OYA Lotion 30 vol. (946 ml / 32 fl. oz.)	20	0.00	ea	0.00T
OY 9108	OYA Bamboo Tool Set	30	0.00	ea	0.00T
OY 9026	OYA Short Balayage Board	30	0.00	ea	0.00T
OY GWP COMB	OYA Comb 2024	30	0.00	ea	0.00T
	Sub Total				29,346.91
	Fedex: 393029620404				

Subtotal		\$29,346.91
Sales Tax (0.0%)		\$0.00
Total		\$29,346.91
Balance Due with 2% Pre Payment		
CC Bal.Due with 2% Pre Pay		
Payments/Credits		-\$29,346.91
Balance Due		\$0.00